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QUESTION 1

Which Workload Manager (WLM) objects can the COLLECT ACTIVITY DATA clause be used with?
A. Data class, work class, and a limit

B. Data class, action class, and a threshold

C. Service subclass, action class, and a limit

D. Service subclass, work class, and a threshold

Correct Answer: D

QUESTION 2

Which table function can be used to determine whether all of a particular table space data objects have been moved
from one storage group toWhich table function can be used to determine whether all of a particular table space data
objects have been moved from one storage group to another?

A. MON_GET_TABLESPACE

B. ADMIN_GET_STOGROUP_INFO

C. ADMIN_GET_STORAGE_PATHS

D. MON_GET_REBALANCE_STATUS

Correct Answer: D

QUESTION 3

Which would not significantly benefit from having the RUNSTATS command run on it?
A. Tables that have had little change.

B. Tables where a new index has been created.

C. Tables that have been reorganized (using REORG).

D. Tables that have been populated with a LOAD operation.

Correct Answer: A

QUESTION 4

A DBA wants to create a table named SALES that has the following characteristics:
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Data for the first half of the year will reside in table space TBSP1,; the index for this data will reside in table space
TBSP21.

Data for the second half of the year will reside in table space TBSP2; the index for this data will reside in table space
TBSP22. Which clause must be used with the CREATE TABLE statement to define this table?

A. DISTRIBUTE BY HASH

B. PARTITION BY RANGE

C. ORGANIZE BY DIMENSIONS

D. ORGANIZE BY KEY SEQUENCE

Correct Answer: B

QUESTION 5

If the following commands complete successfully for a single partition database: CREATE DATABASE mydb;
CREATE BUFFERPOOL mybp; Which statement is true?

A. Self tuning is enabled for the MYBP buffer pool.

B. The initial size for the MYBP buffer pool is zero pages.

C. The database has to be restarted before the MYBP buffer pool will become active.

D. The page size for the MYBP buffer pool can be changed using the ALTER BUFFERPOOL statement.

Correct Answer: A
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